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1. DO NOT OPEN THIS QUESTION BOOKLET UNTIL YOU
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2. Write your name and registration number on the cover of this
question booklet.

3. Please use a pencil and write your answers neatly ONLY on the
answer sheet provided. DO NOT write or draw in the circle next
to each answer box. No mark will be given if you failed to follow
this instruction.

4. If the information printed on your answer sheet is not correct,
please inform the invigilator immediately.

5. Rough-work sheets provided will be collected at the end of the
contest but they will not be marked.

6. Diagrams in this question booklet are not necessarily drawn to
scale.
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1) 1824 + 4176 =? [1%)]
2) 2018-1599 =? [1%)]
3) 2x3x5=7? [1%]
4) 14x9=7 [1%]
5) 80+5=7? [1%)]
6) 136 +8=7 [1%)]
7) 34x43=? [1%)]
8) 864 +32=7 [1%)]
9) 72X6-200+5=7 [1%)]
10) 9000 + (162 -29 X 3) = ? [1%)]
11) 13 x (40 + 333 +9) =7 [1%)]
12) 123 + 456 + 36 X 36 = ? [1%)]
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13) Evaluate 161 + 1? + 171 . (Express the answer in its simplest form.) [1%)]
Ep = 161 + ](1) + 171 o (ERUBHABET. )
14) Evaluate 5-3 170 +2 190 . (Express the answer in its simplest form.) [1 0/o]
T8 5- 31—70 +2 190 o (BEEMUBHARET. )
[1%]

11 1 11
15) Evaluate — 12 (212—112).

(Express the answer in its simplest form.)

] 1—2-( 21 - 1ﬂ) o (EEUBHHBRT. )

b= (]13

12 12
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16) Ada’s heightis 173 cm, which is 47 cm shorter than ~ [2.0%)]
Billy. If Billy’s height is 4 times that of Carmen, how
tall is Carmen in cm?

FRESER 173 EX, LkZ2E4A7EX, MZHEST
EAH4{E. BABNSERESZVEX?

17) If Mary earns $806 every day, how much does she [2.1%]
earn in February 20187

INEFXER 806 T, MEMTE 2018 F£ 2 AXKES D
JT?

18) John can solve 27 math problems every day. How  [2.2%]
many days does he need to solve 1026 math problems?

INBE XM 27 EEHEE, BMEEZSDXRAEETK
1026 EEEE?
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19) John ate%of a pizza. He ate——of a pizza less than  [2.3%)]

9
Mary. How much of the pizza did they eat altogether?

AN T S (B M NE O - .
S5 T 5 DB

20) John has 5% dollars and Mary has 7% dollars. If  [2.4%]

they buy a cake which costs 9 % dollars, how much

change should they get back?

N 52T, MNER 75 T MAREE—(E
EiE 9L TNER, MEEERES DT
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21) Find the sum of all the factors of 36. [2.5%]

36 IFFAEEZFE S D?

22) Find the Highest Common Factor of 144, 192 and  [2.6%]
216.

K 144. 192 #1216 BB KA F .
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23) Find the Lowest Common Multiple of 90 and 108. [2.7%]
3k 90 1 108 HIm /N 1B 2L

24) Write —3_ as adecimal. [2.8%]

125

11 S BH— 1AM
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25) How many line(s) of symmetry is/are there in the [2.9%]
figure below?

AT EFA & DM i

26) A piece of paper is cut into 2 pieces along the dashed  [3.0%)]
line as shown below. The two pieces are then
rearranged to form a triangle that has the longest
perimeter. What is the perimeter of that triangle in
centimetres?

EULTEARBESRST R, A28 W 1E & 5 H K —(E
BRAGRHN=AF. EEA=ATHNAREZVEKR?

5cm
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27) Find the sum of the three largest prime numbers [3.1%]
within 100.

X 100 UNTR AN ={EZEZH.

28) If the 6-digit number 57A428 is divisible by 9, find  [3.29%]
the value of A.

MR SHLET 57A428 AT L 9 Z R, 5k A HIEL
#.
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29) The perimeter of a rectangle is 40 cm. If its length  [3.3%)]
is 3 times its width, what is the area of the rectangle
in cm??

—BERAFEHNARRE 40 EX. IR EHNREHEA
345, AMERAEHNEERZVERENK?

30) If a 4-sided shape has four equal angles, then the [3.4%)]
shape must bea _ ?

MR —EMEEHERSESE, EEMEEE8

B ? .
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31) The figure below is formed by 7 identical small [4.0%]
rectangles. Find the area of a small rectangle in cm?.

UTERE 7 ERRB/NMNATAER . BEE
INRATEHEREE ZDFEFEXK?

105 cm

32) Evaluate 77 x 91 x 143. [4.1%]

=& 77 x 91 x 143,

P10
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33) Mary makes 6 cakes every morning and eats 4 of [4.2%)]
them every midnight. In the afternoon of the Nt
day, there are 36 cakes in Mary’s home. Find N.

INEBXRBELAEM e HEE, ABREFEENZ
HEF 44, EENXFFHFE, DMERAFKF
FHT 36 HEHE. kK N HEUE.

34) John has some $4 stamps and $7 stamps. If he has  [4.3%]
63 stamps which worth $339 in total, how many
$7 stamps does he have?

INRE—E 4 TEEM 7 TEHE. MRMERLET 63
EHE, #E339xT, BithE 7 tBEZIME?

P11
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35) A road is 1 km long. Some trees are planted on [4.4%)]
both sides of the road including both ends such
that every two neighbouring trees are 25 m apart.
If 4 pots of flowers are planted between every two
neighbouring trees, how many pots of flowers are
planted?

—ERNBERI1IANE, EMEBRE 25 KFE 188, W
inthiE, BMESIZRIXIET 4 87, BEXRET
ZbEE?

36) If each letter represents a different digit, then [4.5%)]
what 4-digit number does “ABCD" represent?

AETRXD, SEXFEBRT—EFADHEE. [
[ABCD | X3 Mp—1@E gy ?

A B C
X A
3 D D 2

P12
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37) In the figure, A, B and C are squares with side [4.6%]
lengths 10 cm, 8 cm and 6 cm respectively. One
vertex of A is on the centre of B while one vertex of
B is on the centre of C. What is the area of the
shaded region in cm?2?

BB A.B.C =@BEHFRE, EMHERDIZ
10cm. 8cm fl 6cm. A BI—{ETEE BRI G 10y L »
m BEY—{ETEEE C PO E. FRRHIBMIEER
ZEFENR?

&

B

38) 3 boys and 4 girls are divided into 2 rows to takea [4.7%)]
photo. If the students in each row have to be the
same gender, find the number of ways to arrange
the students.

BSMBEEfMA4MNTETHMITHAKEE. MRE1T
HMATMUEHERENNESE, MELXES DEHT
BAEIE?

P13
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39) From 1 to 2018, how many numbers are multiples [4.8%]
of 8 but not multiples of 18 or 20?

H1ZE 2018, AZ/MMEHFER 8 HIEE, EAXRR
18 = 20 HIfE &L

40) If an integer can be written as the product of [4.9%]
4 different prime numbers, how many factors
does it have?

MR—EZBHTUER 4 EARNEEHZE, BiE
FEEHLFRE S DE?

End of paper
£H7T

P14
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